8.1 (page 478)

6. P(E|A)=06 12. p(E)=1-P(E)=1-0.31=0.69
8. P(E|B)=08 _  P(BNE) P(E|B)-P(B

(E18) 14 pE|E)- (Pg ) Pl IP)E ©)_pacy s
10. p(E|C)=03 ( ) ( ) '

16. P(A[E)= P(ANE) P(EIA)-P(A) (06)(03) _

18
- = = =0.261
P(E) P(E) 0.69 69
18. P(C|E)-= PENE) _PEIC)P(E) _ (03)(0) =3 0043
: - P(E) B P(E) 069 69
19 [ 0 P(E) = P(ENA) + P(ENAY)
=P(A) - P(E| A1) + P(Az) - P(E | Ao)
— (0.4) - (0.03) + (0.6) - (0.02)
= 0.024
22.

P(E) =P(ENAL) + P(ENA) + P(ENA,)

=P(A)) - P(E | A1) +P(Az) - P(E | A2) + P(As) - P(E | Ag)
= (0.3) - (0.01) + (0.2) - (0.02) + (0.5) - (0.02)

=0.017
2. paE)= PANE) P(A)-P(EIA) _(04)(003) 12 _1_
| ST P(E) P(E) 0.024 24 2
oA, [E) = P(ANE) _P(A,)-P(EA,) (06)(002) 12 1 ..
7 PE) P(E) T 0024 24 2

=0.696



26.

28.

P(A,NE) P(A)-P(EJA) (0.3)(0.01) 3

POATE) = P(E) P(E) = oo a7 e
P(A, | E) = P(A,NE) _ P(A,)-P(EIA,) _ (0.2)(0.02) _ 4 oo
i P(E) P(E) 0017 17

ooa gy PIANE)  P(A)-PEIA)  (05)(002) 10 .
(Al )= P(E) P(E) Coo0017 17

Define the events: A;: Car was produced in factory I, A,: Car was produced in factory Il, and E: a
car is defective.

P(A) = % P(A) = % P(E|A) =002  P(E|A)=0.01

(a) P(E | As)=0.02
(b) P(E | A2)=0.01
_P(ANE) _P(A)-P(EIA)

We need to find P(E).

P(E)=P(ENA) + P(ENA))
=P(A) - P(E | A1) + P(Ay) - P(E | A)

2 1 5 1
= (gj -(0.02) + (5] (0.01) = —=a =0.0167

300
2
P(A,NE) P(A,)-P(E|A, (3)“102)
P(AL| E) = (P(E)): ( )P(E() ) T =%:0.8
60

(ANE)_P(A)P(EIA) 30
_P(ANE) P(A)-P(EIA) 3% 1
(d) P(A|E)= P(E) P (E) =S _g_o.zo

60




Define the events A: a Kave customer has seen the ad, M: a customer is male, F: a customer is
female.
P(M)=0.8 P(F)=0.2 P(A|M)=0.75 P(A|F)=0.30
(@ P(A)=P(ANM)+P(ANF)=P(M)-P(A|M)+P(F)-P(A|F)
=0.8-0.75+0.2-0.3=0.66

P(FNA) P(F)-P(A|F) 02:03 1
P(A) P(A) "~ 066 11

(b) P(F|A)= ~0.091

(c) We need the probability the customer has not seen the ad. We need A.
P(A)=1-P(A)=1-0.66=0.34 P(A|M)=1-P(A[M)=1-0.75=0.25

P(MNA)_P(M)-P(A[M) 08:025 10

2 — = ~0.588
P(A) P(A) 034 17

P(M|A)=



